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Section A: MCQ (36 marks] _
Questions 1 to 18 camy 2 marks each. For each question, four opfions are given. One of

them: is the cormrect answer. Make your choice (1, 2, 3 ar 4).
Shade the caorrect ovat (1, 2, 3 or 4} on the Optical Answer Sheet.

t.  45thousands and 6 tens is-the Same as

(1) 456

@ 4560
(3 45006
(@) 45060

2.  Complete the fallowing number pattem.
9,13,17, .29

(1) 23,27
@ 21,26
@) 21.25
@) 18,28

3. Which: of the following decimals is the smalfest?

(1) 0425
@ 0.045
3)  0.04
(4 o4

4.  What fraction of the shapes in the box are @ ?

(1)

@

3

@

al\, 3“,, Wi~ W

(Go on to the next page)



wmef;g as a decimal,

(1)
@
3
@

1425
1.016

" 116

14

A number wheo rounded fo the nearest hundredth becomes 1.95.

What is the largest possible rumber?

(1)
@
&)
@

~| e

&

4

What is the: missing numbes in the box?

(1
@
&)
@

=

1952
1.955

1.965

~i]

20
37
@
47

Which of the following pair of numbers. has 24 as their first commeon multiple?

(1)
@
&)
@

2and 4
3and 4
4 and 6
6 and 8

(Go on to the next page}



10

11,

12,

A shopkeeper has 235 boxes. Each box corfains 56 sweefs. How many
sweets are there in ali?.

(1)
)
&)
@

12 160
13 160
14 260"
25 850

& boaokshelf weighs 3 fimes as heavy as a chair. The total mass of both

hoakshelf and chair is 48.6kg.

How heavy is the chair?

M
@
3
@

12.15 kg
16.20 kg
36.45 kg
145.8 kg

Tom: took a flight from Beijing and: landed in Changi Airpart at 01 30. His. flight

took 6 h 25 min. What time did the plane take off?

(1
@
3
@

Subfract 15.07 from 32.8 .

(1
@
&)
(4)

07 05
1908
1956

17.87
17.73
17.01
17.1

{Go on to: the. next page)



13.

14.

&

The table below shaws how 48 pupls in Primary 4A gé to schoal.
Use the informadion and answer questions. 13 and 14.

How many pupils go ta schoal by car?

)
@
(3)
@

Mode of transport Number of pupils.

Walk to schook » 4

Public bus 3

By sclwd bus - 18

By MRT train | 12

By Car f 2

34
16
14
&

If each pupil pays $90 to the schaal bus driver each: month, how much wouid
the: bus driver callect per month.

)
@
&)
@

$270

$1 350
$1620
$3 600

(Go on to the next page)



15, Whatis the sum of

()

@)

@

@

(1
@
&)
@)

2

Figure A

Figure A, C and D
Figure B and C
Figure Aand B
Figure C and D

gaﬁdz?

3

Figure B

Figure: C

Figure D

(Go on ta the next page)



17. The figure below is made up of 4 identical rectangles.

18.

7

What is the perimeter of the figure?

(1) 3Bem

@ 4om
(3) 48cm

-(4)_ 52 cmv

Ali and Gopaf met at the shopping mall for mavie at 08 35.
The movie efded at 11 15.

They then spent 55 min at a bookstore before heading home.
How much: time did they spend together?

(1) 4h05min
2 3h35min
) 3h 10 min
(4) 2 h40 min

End of Booklet A
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Section B: {36 mm’!@j

Questions 19 fo 36 carry Z marks cach.
Write out the carrect answars for the following q;uesﬁans it the space provided.
Shew your working clearly and give your answers in the units provided.

18.

20

2%,

Wiite fifteen thausand and twenty-six in figures.

Ans:
Some factors of 32 are 1, 2, 8 and 32
What are the other fwo factors of 322
Ans :
Round 6& 320 to the nearest hundred.
Ans :

Arange the following fractions from the swaallest to the greatest.

8 1
5 3

wlm

Ans . s

{smallest) ~ {greatest)

fGo on to the next page)
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23. Inthe figure below, rectangle ABCD is made up of 8 unit squares- What fraction of
the rectangle ABCH is shaded? ‘

A : _— B

':’ O Za
RS o -
) )
fa N Vit’\ﬁ' . T "..}\..‘;_;‘
PR e e NI
PACAGATAY 2Ny 3 oy
‘V\-m Sty o g T,
AT AEATA, R NS AN
T % AT EA e 1
SRS SARRANATSEAAN O

Ans: :

24 Find the value of 12.76 < 8

25. 19.06 - 0.97 =

Ans. :

26. Use the digits below to form the smallest 5-digit odd number. The digit in the
hundreds. place is twice the digit in the ones place.

Each digit can he used only once.

41 15 (1] 18] [3] |2

Ans.

(Go on to the next page}
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Study the graph carefully and answer questions 27 and 28. A
The graph: below showed the temperature of Sunny Town recorded over a 12-hour

period.

Temperature of Sunny Town recarded over a 12-hour period
40 - e e e e e < e o
4
36 4 —-- - o s - ———a e
o ——— — - ——— —— ————
3z §-- s —
O 4.~ ——————————————————————————— [ admiafiadie fasbeid 5
N B S ARTRRT , e
ol F-———=-= Tt m————— -.f ________ :\.. ...... — $ 5
5 24 §-— T ————e 5 S SRR ' — .:,_ - ._._..E... -
ko 1 : : : H g i :
& [ 20 f— - E SRR AP S :
o 1 : : : i i 3 i
El. e I e e
=N H H : . : i
12 Rt IR e R ¢ e k3 I B e St
& & e - Yoo o — . - — . : -
1 : . ; : : :
4 $-— e I3 e s -4 i N
[o g - R ...._._i S _,: p [N SR i :
6 am. 8 a.m 18 a.m. 12 nocn 2p.m. 4 p.m. 6p.m

27. During which-period of the day was the difference in temperature the greatest?

and

Ans: Between

28. Whaf was the difference between the highest and lowest temperature?

29.

°C

In the figure below, name the smailest angle.

Ans: /.

(Go on to the next page)
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.30 Iathe figure shown, PORS is a square. Find /. MSN.
P Rt a

3 :
/

!!

f

17 N

{3 . Ags :

3t. The clock below shows the time when Melissa left het house for schoot in the morming.
The clack was 15 minutes stow. - ‘
Wihat was the actual time she left school that morning?
(Give your answer using the 24-hou¥ clock)

Ans.:

i 1
32. Peterbought 2% kg of rarnbutans. His family ate 1-2 kg of rambutans. and e gave

’ .3 .
some to his neighbour. He thea had Py kg of rambutans left. What was the mass of
rambutans he gave to his neightbour?

ARs : v kg

(Go on to the next page)



33. The perimeter of a square is 36 m. What is its. area?

Ans : m?

34. Complete and shade the symmetric figure with the dotted fine as fine of symmefry.

35. The afea of a rectangle is 64 cmZ. The length of the rectangle is four times as long as
its breadth. What is the length of the rectaagle?

Ans : cm

(Go on to the next page)
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36. Use the information befow to answer Quesfion 36a and 36b.

Schoot
Clinic_

Stadium

Cinema " Flafs

Bus sfop

(a} Raju came out of the MRT station and was. facing the bakety. He turned
clockwise to face the clinic. What was the angle that he had turned?

Ans.:

(b) May Ling came out of the: MRT station. She was facing the stadium.. She made a

% - turn to her left. Which direction would she be facing?

Ans.:

End of Booklet B
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Secfion €: (28 vaarks)

Show yaur warking clearly in the space provided for each question. and wrife
your answers in the space provided. ,

The number of marks available is shown in hrackets [ ] at the end of each
question or part-question. :

37.  Mrs Lim baked more than 20 but fewer than 36 pies. Bo aat write
. A anything i thix
If she packed them in. boxes of 4, she would have 2 extra pies. | margin.

If she: packed them in boxes of 6, she would need another 2 more pies. '

How many pies did Mrs Lim bake?

Ans : (3]

(Go on to the next page)



38 Cindy has 3 rows of hibiscus plants in her garden. | Baactwrite
&neadmmw.MEafeizpm ’ anything in this
1. 1 mes
E‘amepmtshave pink flowess, — of the plants have red flowers while

the rest of the plants have yellow flowers. :
(a} What fraction of the plants have pink and red flowers?
(b} How many of the hibiscus plants have yellow flowers?

Ans: (@) ]

(o) @

{Go on ta the next page)



4

38, Mes Pek had some durians at hee freit stali.

g A
3 of it was spoilt and Hwownt away.

- R
Sihesefd-{éofhetdﬂﬁm

She had 33 dusians left.

How many durians did she have at her fruit stall at fest?

Ans :

i3}

(Go on to the next page)

Do nmat werite



.40, Ahmad and Ben have a fotal of 78 keychains.

Ben has twice as many keychains as Chatdie.
Ahmad has 6 keychains less than Chacie.

(a} How many keychains does Ahmad have?
(b} How many keychains does Charlie have?

Ans :

(a)
(b)

. Da nat write:
anything lo this

{2]

{1]

(Go on ta tha nexi pge)
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41. My Tan paid $16.26 for 4 curry puffs and 6 muffins. | Baretwite
Eact muffin cost 30 cents less than a cusiy puff. | o mm
%aﬁwasmemtaim&&wwpuﬁaudamufﬁm?.

Ans : 41 |

(Go on to the next page)



42 A tofat of 26 cars and mtemydeswereparkedaﬁcmgeemve Pumaty hmﬁmm
Scheol. There were 92 wheels alfogether. - . margin

(a)Hmeaﬂycafswefememmmewpafk? .
(b} What was the difference befween the number of cars and motorcycles?

Ans : (a) &) |
(b) (1l

{Go on to the next page)



43.  Andy had $2 more than Samy. | pe notweite
~ After Andy spent $6.50, Samy had 3 imes as much money as Andy. [prvthing in this
(a) How much money did Andy have left? o ik
(b} What was the fotal amount the 2 boys had af first?

Ans : a) 2]

b) 2]

- (Go on to the next page)



g

o the: figure below, &, B, C are squares.
: The asea of A is four imes the area of B.
" The area of B is four times the area of C.. The area of C is 4 cn®.

. Wheat is the petimeter of the figure?

End of Booklet C.
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YEAR

LEVEL

SCHOOL
SUBJECT

TERM

Section A

ANSWER KEY

2018

PRIMARY 4
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SA2

QL

Q2

Q3

Q4

Q5

Q6

Q7

Q8

Q9

4

3

Q10

Q11

Q12

Q13

Q14

Q15

Q16

Q17

Q18

1

3

Sectjon B

Q19 15
Q20 4,

Q21 65

Q22

N | =

Q23

Qilw

Q24
Q25
Q26

026

16

300

Y- -
[=-BN-))

102.08

18.09

12643

Between 2pm and 4pm




Q28

Q29

Q30

Q31 |

Q32
Q33

Q34

Q35

Q36

10°C
Zd

38°

0635 hrs
7

3 K8

81 m?

.‘._". . 3 HA.

16 cm
(@) 225°

(b) south-east

Section C

Q37

Q38

22 pies

@ ZtE>n

(b 12x3=36

— oy A wto——

= -;% => 21 plants




Q40

Q41

Q42

Q43

—  a— Ty s

=11
=11 x 15 = 165 durians

28 — 6 = 22 keychains

78 +6=284
84 + 3 = 28 keychains

0.30 x 4=1.20
16.20 — 1.20 = 15.00
15.00 = 10 = 1.50
1.50 x 2 = 3.00
3.00 + 0.30 = $3.30

(a)

(b)

(@)

(b)

Assume all were motorcycles
Total —>2x26=52
Extra - —>92-52=40
Difference —>4-2=2
Opposite — 40 2 => 20 cars

26-20=6
20-6=> 14

6.50 — 2.00=4.50
4.50 +2 = $2.25

2.25x3=6.75
2.25 +6.50 = 8.75
6.75 +8.75 = $15.50



Q44 Areaof B—>4x4=16
' Area of A—> 16 x4 =064

8
V64

4
V16

2 .
2

8§+4+2=14
14x2 =28
8x2=16

28 +16 = 44 cm

End




